

اننا داحضوا ۵ احببكم الله

$$\left( \overbrace{1! + 2!}^{2+1} + 0! + \dots \right) \left( \overbrace{1! + 2!}^{2+1} + \dots \right) = 2 \times 2 = 4 \rightarrow \text{رقم یون} = 2$$

$$\text{الف) } \sqrt[5]{(x+\sqrt{v})^{-1}(1+\sqrt{v}^2)} = \sqrt[5]{\frac{1+\sqrt{v}^2}{x+\sqrt{v}}} = \sqrt[5]{\frac{v(x+\sqrt{v})}{x^2+v}} = \sqrt[5]{v} \rightarrow \sqrt[5]{v}^{\frac{1}{x}}$$

$$\begin{aligned} \text{ب) } \frac{\sqrt{r+\sqrt{5}}}{\sqrt{1+r}} &= \frac{\sqrt{r+\sqrt{5}}}{\sqrt{r(\sqrt{5}+\sqrt{r})}} = \frac{1}{\sqrt{r}} \\ \rightarrow \frac{1}{\sqrt{r}} \times \frac{-r}{\sqrt{r}} &= \frac{-r}{r} = -1 \end{aligned}$$

2)  $\frac{\sqrt{1+\sqrt{2}}}{\sqrt{2}-1} = \frac{2}{\sqrt{2}-1}$   
 $\left\{ \begin{array}{l} T = \frac{\sqrt{1+\sqrt{2}}(\sqrt{2}+\sqrt{2})}{\sqrt{2}-\sqrt{2}} = \frac{0\sqrt{1} + 2\sqrt{2} + \sqrt{2} + \sqrt{2}}{2-2} = \frac{1\sqrt{2} + 1\sqrt{2} + 1\sqrt{2} + 1\sqrt{2}}{0} = \frac{4\sqrt{2}}{0} \rightarrow \text{undefined} \\ S = \frac{2}{\sqrt{2}-1} \times \frac{\sqrt{2}+1}{\sqrt{2}+1} = \frac{2(\sqrt{2}+1)}{2-1} = 2(\sqrt{2}+1) \rightarrow T-S = \sqrt{2}-1 \end{array} \right.$

جواب)  $\frac{\sqrt{17}-1}{5+\sqrt{17}} - \frac{1}{1-\sqrt{17}}$

$\xrightarrow{M} = \frac{1+\sqrt{17}-5-5\sqrt{17}}{17-17} = \frac{1+\sqrt{17}-5-5\sqrt{17}}{0}$   
 $\xrightarrow{N} = \frac{1 \times (1+\sqrt{17})}{(1-\sqrt{17}) \times (1+\sqrt{17})} = \frac{1+\sqrt{17}}{1-17} = \frac{1+\sqrt{17}}{-16}$

$\rightarrow M - N = 1 + 17\sqrt{17}$

$$\frac{\sqrt{1+\sqrt{p}} + \sqrt{\sqrt{p}-1}}{\sqrt{\sqrt{p}-1}} = \left( \sqrt{1+\sqrt{p}} + \sqrt{\sqrt{p}-1} \right)^2 = 4\sqrt{p} + 2\sqrt{p} \xrightarrow{\text{Simplify}} \sqrt{1+\sqrt{p}} + \sqrt{\sqrt{p}-1} = \sqrt{p\sqrt{p}+p}$$

$$\frac{\sqrt{p\sqrt{p}+p\sqrt{p}} - \sqrt{p}}{\sqrt{p\sqrt{p}+p\sqrt{p}} \times (\sqrt{p}+1)} = \frac{p\sqrt{p}+p\sqrt{p} \times (\sqrt{p}+1)}{1} \Rightarrow 1 + \sqrt{p} \Rightarrow \sqrt{1+\sqrt{p}} = \sqrt{(\sqrt{p}+1)^2} = \sqrt{p}+1$$

$$\frac{\sqrt{p\sqrt{p}+p\sqrt{p}}}{\sqrt{p\sqrt{p}+p\sqrt{p}}} \times \frac{\sqrt{p\sqrt{p}+p\sqrt{p}}}{\sqrt{p\sqrt{p}+p\sqrt{p}}} = \sqrt{p\sqrt{p}+p\sqrt{p}} \times \sqrt{p\sqrt{p}+p\sqrt{p}} = p\sqrt{p}+p\sqrt{p} = p \times p = p^2$$

$$\frac{\mu^2 (1 + \mu' + \mu'' + \mu''' + \mu^{(4)} + \mu^{(5)} + \mu^{(6)})}{\mu^{2-1} (1 + \mu' + \mu'' + \mu''' + \mu^{(4)} + \mu^{(5)} + \mu^{(6)})} = \Delta \mu \rightarrow \frac{\mu^2}{\mu^{2-1}} \times \mu^{(6)} = \Delta \mu \rightarrow \frac{\mu^2}{\mu^{2-1}} = 9$$

$\rightarrow \boxed{x = \mu / \text{Position}}$



$$(a-b)^{\frac{1}{2}} \times (a+b)^{\frac{1}{2}} = (a^2 - b^2)^{\frac{1}{2}}$$

$$(\sqrt{\sqrt{9}+2} - \sqrt{\sqrt{9}-2})^{\frac{1}{2}} = (\sqrt{3+2} + \sqrt{3-2} - 2\sqrt{2})^{\frac{1}{2}} = \frac{1}{2}(\sqrt{5}+2 - \sqrt{5}-2 - 2\sqrt{2}) = \frac{1}{2}(-2\sqrt{2}) = -\sqrt{2}$$

$$(a + \frac{1}{a})^2 - a^2 = (a^2 + \frac{1}{a^2} + 2 - a^2)^{\frac{1}{2}} = a^{\frac{1}{2}} + \frac{1}{a^{\frac{1}{2}}} + 2$$

$$= \sqrt{2} + \frac{1}{\sqrt{2}} + 2 = \frac{2 + 1 + 2\sqrt{2}}{\sqrt{2}} = \frac{3 + 2\sqrt{2}}{\sqrt{2}}$$

$$A = \sqrt[3]{\frac{1}{27}} \left(\frac{1}{27}\right)^{\frac{1}{3}} = \sqrt[3]{\frac{1}{27} \times \frac{1}{27}} \times \frac{1}{27} = \sqrt[3]{\frac{1}{729}} \times \frac{1}{27} = \frac{1}{27} \times \frac{1}{27} = \frac{1}{729}$$

$$(2A)^{\frac{1}{3}} = 2^{\frac{1}{3}} A^{\frac{1}{3}} = (2^{\frac{1}{3}})^{\frac{1}{3}} = 2^{-1} = \frac{1}{2}$$

$$\frac{1}{\sqrt{a}} = \frac{1}{\sqrt{a}} \times \frac{1}{\sqrt{a}} = \frac{1}{a} \Rightarrow 1 = \frac{1}{\sqrt{a}} \Rightarrow \sqrt{a} = 1 \Rightarrow a = 1$$

$$\frac{(\frac{1}{a} - 3)}{1 + \sqrt{3}} = \frac{3\sqrt{3} - 3}{1 + \sqrt{3}} \times \frac{1 - \sqrt{3}}{1 - \sqrt{3}} = \frac{3\sqrt{3} - 9 - 3 + 3\sqrt{3}}{1 - 3} = \frac{6\sqrt{3} - 12}{-2} = -3\sqrt{3} + 6$$

$$\sqrt{M+N} - \sqrt{M-N} = 2$$

$$\sqrt{M+N} + \sqrt{M-N} = 2$$

$$M+N - (M-N) = 4N = 4 \Rightarrow N = 1$$

$$M - N = 4$$